Droites Numériques (E)

Complétez cette droite numérique par les nombres manquants.

Différence commune:

| |
4169 4119

|
4069

1
3919

! ! !
8942

Différence commune:

|
9167

| | |
8556

Différence commune:

|
8636

| | |
6497 6397 6297

Différence commune:

1 1 1
1255

Différence commune:

| | |
1924 2024 2124

Différence commune:

1 1 1
4902

Différence commune:

|
4962

1
4982

! ! !
8297 8197

Différence commune:

|
7947

|
7847

Mathslibres.com




Droites Numériques (E) Réponses

Complétez cette droite numérique par les nombres manquants.

| | |
4369 4319 4269

| | |
4219 4169 4119

Différence commune:

-50

|
4069

|
4019

|
3969

1
3919

| | |
8942 8967 8992

! !
9017 9042

|
9092

|
9142

Différence commune:

25

|
9167

| | |
8546 8556 8566

| |
8576 8586

Différence commune:

10

|
8626

|
8636

| |
6497 6397 6297

Différence commune:

| |
6197 6097
-100

!
5697

1 1 1
1255 1305 1355

Différence commune:

| |
1405 1455
50

!
1655

| | |
1924 2024 2124

Différence commune:

| |
2224 2324
100

|
2724

| | |
4892 4902 4912

| |
4922 4932

Différence commune:

10

! ! !
8297 8247 8197

Différence commune:

| |
8147 8097
-50
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